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	The following data relate to a company that produces and sells a travel guide that is updated monthly:
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	A manufacturing company that produces a single product has provided the following data concerning its most recent month of operations: 
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Variable costs per unit
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Fixed selling and administrative

0
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What is the unit product cost for the month under variable costing? 
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KAB Inc., a small retail store, had the following results for May. The budgets for June and July are also given.
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Sales are collected 80% in the month of the sale and the balance in the month following the sale. (There are no bad debts.) The goods that are sold are purchased in the month prior to sale. Suppliers of the goods are paid in the month following the sale. The "selling and administrative expenses" are paid in the month of the sale.
 
The cash disbursements during the month of June for goods purchased for resale and for selling and administrative expenses should be: 
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	$40,000
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	$41,000
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	$42,500
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	$43,500


Abdi Company, which has only one product, has provided the following data concerning its most recent month of operations:
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What is the total period cost for the month under the absorption costing approach? 
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	$98,000
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	$65,700
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	$21,000
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The International Company makes and sells only one product, Product SW. The company is in the process of preparing its Selling and Administrative Expense Budget for the last half of the year. The following budget data are available:
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All expenses other than depreciation are paid in cash in the month they are incurred.
 
If the budgeted cash disbursements for selling and administrative expenses for November total $123,250, then how many units of Product SW does the company plan to sell in November (rounded to the nearest whole unit)? 
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	33,444 units
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	25,000 units
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	22,952 units
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	20,111 units


Under the variable costing method, which of the following is always expensed in its entirety in the period in which it is incurred? 
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	fixed manufacturing overhead cost
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	fixed selling and administrative expense
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	variable selling and administrative expense
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	all of the above


	
	If both the fixed and variable expenses associated with a product decrease, what will be the effect on the contribution margin ratio and the break-even point, respectively? 
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	Betz Company's sales budget shows the following projections for next year: 
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Inventory at the beginning of the year was 18,000 units. The finished goods inventory at the end of each quarter is to equal 30% of the next quarter's budgeted unit sales. How many units should be produced during the first quarter? 
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	Kern Company produces a single product. Selected information concerning the operations of the company follow:
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Assume that direct labor is a variable cost.
 
Which costing method, absorption or variable costing, would show a higher operating income for the year and by what amount? 
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Absorption costing net operating income would be higher than variable costing net operating income by $2,500.
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Variable costing net operating income would be higher than absorption costing net operating income by $2,500.

[image: image51.wmf]
Absorption costing net operating income would be higher than variable costing net operating income by $5,500.
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Variable costing net operating income would be higher than absorption costing net operating income by $5,500.
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Shun Corporation manufactures and sells a hand held calculator. The following information relates to Shun's operations for last year: 

 [image: image56.png]Unit product cost under variable costing. $5.20 per unit
Fixed manufacturing overhead cost for the year $260,000
Fixed selling and administrative cost for the year $180,000
Units (caleulators) produced and sold 400,000



 

What is Shun's unit product cost under absorption costing for last year? 
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	$4.10
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	$4.55
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	$5.85

	[image: image61.wmf]
	$6.30


KAB Inc., a small retail store, had the following results for May. The budgets for June and July are also given.
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Sales are collected 80% in the month of the sale and the balance in the month following the sale. (There are no bad debts.) The goods that are sold are purchased in the month prior to sale. Suppliers of the goods are paid in the month following the sale. The "selling and administrative expenses" are paid in the month of the sale.
 
The amount of cash collected during the month of June should be: 
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	$32,000
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	$40,000
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	$40,400
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	$41,000


The following data relate to a company that produces and sells a travel guide that is updated monthly:
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Each book sells for $20.00. The company sold 8,000 books in June and 10,000 books in July.
 
The contribution margin ratio for the book is: 
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	71.5%
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	54.0%
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	51.5%
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	51.9%


MJ Department Store expects to generate the following sales figures for the next three months: 

 [image: image74.png]July  August  September
Expected sales $480,000 $560,000  $600,000



 

MJ's gross profit rate is 45% of sales dollars. At the end of each month, MJ wants a merchandise inventory balance equal to 30% of the following month's expected sales, stated at cost. What dollar amount of merchandise inventory should MJ plan to purchase in August? 
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	$257,400
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	$314,600
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	$320,000
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	$327,800


The following data relate to a company that produces and sells a travel guide that is updated monthly:
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Each book sells for $20.00. The company sold 8,000 books in June and 10,000 books in July.
 
The break-even point in units is: 
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	8,247 books
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	7,767 books
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	7,407 books
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	6,504 books


Abel Company uses activity-based costing. The company has two products: A and B. The annual production and sales of Product A is 200 units and of Product B is 400 units. There are three activity cost pools, with estimated costs and expected activity as follows:


 [image: image86.png]Expected Activity

Estimated
Activity Cost Pool Cost Product & ProductB  Total
Activity 1 $16,660 600 100 700
Activity 2 $18,450 1,100 700 1,800

Activity 3 $9,731 60 160 220



 
 
The cost per unit of Product B is closest to: 
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	$41.58
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	$81.53
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	$74.73
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	$17.69


Which of the following strategies could be used to reduce the break-even point? 
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	Item A
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In two companies making the same product and with the same total sales and total expenses, the contribution margin ratio will be lower in the company with a higher proportion of fixed expenses in its cost structure. 
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A shift in the sales mix from products with high contribution margin ratios toward products with low contribution margin ratios will raise the break-even point. 

[image: image101.wmf]

-2-2


	[image: image102.wmf]
	True

	[image: image103.wmf]
	False


_1290830033.unknown

_1290830297.unknown

_1290830745.unknown

_1290830783.unknown

_1290830819.unknown

_1290830861.unknown

_1290830863.unknown

_1290830821.unknown

_1290830860.unknown

_1290830786.unknown

_1290830787.unknown

_1290830818.unknown

_1290830785.unknown

_1290830747.unknown

_1290830749.unknown

_1290830782.unknown

_1290830746.unknown

_1290830704.unknown

_1290830707.unknown

_1290830708.unknown

_1290830744.unknown

_1290830706.unknown

_1290830300.unknown

_1290830301.unknown

_1290830703.unknown

_1290830298.unknown

_1290830123.unknown

_1290830250.unknown

_1290830252.unknown

_1290830253.unknown

_1290830296.unknown

_1290830251.unknown

_1290830126.unknown

_1290830127.unknown

_1290830248.unknown

_1290830125.unknown

_1290830079.unknown

_1290830081.unknown

_1290830083.unknown

_1290830122.unknown

_1290830080.unknown

_1290830035.unknown

_1290830037.unknown

_1290830077.unknown

_1290830034.unknown

_1290829707.unknown

_1290829940.unknown

_1290829985.unknown

_1290829988.unknown

_1290830030.unknown

_1290830031.unknown

_1290830028.unknown

_1290830029.unknown

_1290829989.unknown

_1290829986.unknown

_1290829943.unknown

_1290829944.unknown

_1290829984.unknown

_1290829941.unknown

_1290829752.unknown

_1290829755.unknown

_1290829756.unknown

_1290829939.unknown

_1290829754.unknown

_1290829710.unknown

_1290829711.unknown

_1290829751.unknown

_1290829708.unknown

_1290829592.unknown

_1290829655.unknown

_1290829657.unknown

_1290829658.unknown

_1290829706.unknown

_1290829656.unknown

_1290829595.unknown

_1290829596.unknown

_1290829653.unknown

_1290829593.unknown

_1290829508.unknown

_1290829511.unknown

_1290829512.unknown

_1290829591.unknown

_1290829509.unknown

_1290828379.unknown

_1290828380.unknown

_1290829507.unknown

_1290828376.unknown

_1290828377.unknown

_1290828375.unknown

